

$$\alpha_{n} = \lambda \alpha_{n-1} + 3 \alpha_{m-2} \quad (\alpha_{2} = \alpha_{A} = 1) \quad (\alpha_{n} \quad ) = \begin{pmatrix} 2 & 3 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} \alpha_{n-2} \end{pmatrix} = \begin{pmatrix} 2 & 3 \\ 1 & 0 \end{pmatrix}^{n-2} \begin{pmatrix} 1 \\ 1 \end{pmatrix} \\
A = \begin{pmatrix} 2 & 3 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} V_{1} \\ V_{2} \end{pmatrix} = \begin{pmatrix} -V_{1} \\ -V_{2} \end{pmatrix} \implies Eig(A_{1} - 1) = \langle \begin{pmatrix} 1 \\ -1 \end{pmatrix} \rangle \\
\lambda = 3 \quad \begin{pmatrix} 2 & 3 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} V_{1} \\ V_{2} \end{pmatrix} = \begin{pmatrix} 3 & V_{1} \\ 3 & V_{2} \end{pmatrix} \implies Eig(A_{1}3) = \langle \begin{pmatrix} 3 \\ 1 \end{pmatrix} \rangle \\
S = \begin{pmatrix} 1 & 3 \\ -1 & 1 \end{pmatrix} \quad S^{-1} = \frac{1}{4} \begin{pmatrix} 1 & -3 \\ 1 & 1 \end{pmatrix} \quad S^{-1} \cdot A \cdot S = \begin{pmatrix} -1 & 0 \\ 0 & 3 \end{pmatrix} \implies A = S \cdot \begin{pmatrix} -1 & 0 \\ 0 & 3 \end{pmatrix} \cdot \tilde{S}^{-1} \\
A^{n-2} = S \cdot \begin{pmatrix} -1 & 0 \\ 0 & 3 \end{pmatrix}^{n-2} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} = \tilde{S} \cdot \begin{pmatrix} (-1)^{n-2} & 0 \\ 0 & 3^{n-2} \end{pmatrix} \cdot \tilde{S}^{-1} =$$